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| BEBGRET) 4

{EaE S A HIRTER n= 260 3HFHLL BS(..)EBEEES - HRERSTEETSVAABMEEL
2  (15%) .
ag ol BS(... )EERRORSEIEERES Ologn) « GE * log (ARLA 2 BEANED (15%)
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| Algorithm BS(A, &, low, high): |
Input: An ordered array A storing » integers, a key £, and integers low and high.
Output: An element of 4 equal to k and index between low and high, if such an
clement exists, and otherwise null.
if low > high then

return null . “ A

else
mid < L(Iow + high)/2] |
¢ < A[mid] |
if k= e then
refurn ¢ ~ |
else if £ < e then

return BS(4, k, low, mid ~ 1) |

| -~ else
rcturn BS(A, k, mid + 1, hzgh) | | B
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PAFRIE (R —(EENREAYE 1 - NSRRI RS A (key) - FHEIE T HMEETEH &Y
fEId
| FERVIEmETHRAESR - (10%)
2. EETHE-ME—EEE % WEF—EEE RIS FEEI R
RS o BEEAEE T _EIER key = 34 SREERIC ERIVFTHIEEFEE - (10%)
3. EEEEREH—ELELE o HIASRENEIEE RS - EEETEER O(og n) « @FF ¢ lﬂg RFDL2 BIE
HIEED)  (10%)




AR RS 9T 25 B R ATRALIEE £
B RAELIE (Aa) ERTEZRMALHE
TR E(E &)
(FRACR) (RAZEAES) ST A A O TR A

2t il %+ A kP — p— o~ L
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B = —(EH0AE i Bl (weighted undirected graph) G » H-p BB ARIES (vertex) » BRI
lﬁ'ﬂrﬁﬂ‘f}”ﬁ"ﬁﬁaz@(edge) 8 b ATEURAYBCE AR E (weight) (BN R R /X - BFfE] ~ BOR) < &8
Zr N ERERYREDE

. {33 L,U*iﬁ A R TESAERY  SEHRIFRNERME G RO E (Depth-First Search; DFS)
“EE s (10%)

2. [EELUEEE A {ESIEESATHRIAES  SHEFREEHERB G A5 85 (Breadth-First Search; BFS)
FEE - (10%) , |

3. | Kruskal’s Algorithm o] AR AR A B [ NETRAS - ﬁ?ﬁﬁ?ﬁlﬂ}ﬁﬁﬁfﬁlﬂlm—ﬁ‘ :

Algorithm Kruskal(G):
Input: A s:mple connected weighted graph G with n vertices and m edges

Qutput: A minimum spanning tree 7

for each vertex v in G do
Define an elementary cluster C(v) « {vj}.
Initialize a priority queue Q to contain all edges in G, using the weights as keys.
T« O
while 7T has fewer than » — 1 edges do
(u, v) « Q.removeMin()
Let C(v) be the cluster containing v, and let C(x) be the cluster containing u.
if C(v) # C(u) then
Add edge (v,u)to T
Merge C(v) and C(x) into one cluster, that is, union C(v) and C(u). r
return tree T

=7 LB = Y2 Gﬁ% B %Uﬁ.’ Kruskal’s Algorithm EE4EB9R/METRET »  (10%)




